AP National Means-cum-Merit Scholarship Scheme (NMMSS)

Examination-2023 Question Paper with Key

NMMS(E) Held on 05-02-2023

Part - 1 : MEN

art - I : MENTAL ABILITY TEST
F'ime : 9 Minutes
. Max. Marks : 90
Note : SHADE the correct alt
the ones given a

cmatives i a a o . \
Ves In the OMR Answer Sheet provided, from amongst
shading

gainst the corre : . .
the citcles. s corresponding questions in the Question Paper Booklet. For
Y Use a Blue or Black Ball Point Pen.

Directions: Questions
In each of the follow
that the characters i
from the given four

(1 to 10):
INg questions,

a set of figures carryi ai : :
. n 3 CC - e v, 5 B> g
n each set fol} rying certain characters given. Assuming

'S " . v .- - .- . -
OWS similar pattern, find the missing character in each case

alternatives.
1. 2
S 2
80 207 Yo
(1) 184 (2) 210 (3) 241 (4) 425
36 9 25
2. 49 |26| 64 81 |21| 25 64 | 7| 144
25 16 36
(1) 19 @) 23 (3) 25 (4) 31
2 4 3
@ 1@ 1@s
5 6 4
4) 29
(1) 21 @)y 25 (3). 27 (4)

(3) 2880
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2. 13154 »

7 145] 32

27 [144] 68
. L A (2) 36 (3) 6 (0 0 S
0.

(1) 26 (2) 82 (3) 83 (&) 86
G G

(1) 10 (2) 12 (3) 14 (4) 16 =
8 [g]17]23

12| 5 |29

10[13] 2

(1) 9 (2) 23 (3) 33 4) 43
9 27Y54 42Y84 ?\(42

9 14 7

(1) 12 (2) 21 (3) 24 (4) - 35
10.

(1) 148

%), 208 3) 213 4) 233

4-A
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il ,-(,”U“m( Uestiong (11 to 20):
’ »

g HUCSHONSs are bice |
= ased on simple

arithmetic calculations. There are

qllc.\lum_ Afle denti fu: X our ;
1. 84 TGNk . flerd nutymg the rnght answer, indicate as e milm:‘l't:::nm
(1) 65 R
N (2) 75
B0 e, (3) 85 (4) 95
(1) 0.03456
Nh 0.003456 3
s \/Z\ — 7 ) 03456 (4) 3.456
- V(26)° ~(24)7 _,
(1
o2 (2) 20 3) 30
\“_
14. 0.03+3 4300034 3003 = » il
(1) 3.33333 |
2
. 72x?7=5184 M
: |
(1) 48 (2) 52 (3) 68 4y 12 M
16. 23% of 2=12167
(1) 52900 (2) 25900 (3) 59200 (4) 59900 !
17. If6*+ 1080 = 1296 thenx="? ’
(1) 2 @) 3 (3) 4 4) 3 0
18. 1210121 =11 =2 | 11
(1) 11011 (2) 110011 R & N
<
= =
19. If 8x3 = 4096 then x 2) 4 (3) 8 @) 3
(1) 2
_ca gby1thena+b+c="
50, [£25x216%2401 =57x6"x T the A
1) 9 s |
5-A y
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R Questions (21 to 10): e et s ¢
alte umber series given below, one number I8 missing Each “”. .m-.lruuu.n. P
‘ Lm;"wc“”Lu)-‘”.(“) One of them is night answer Indicate as per
21 4,8 28, 80, 244, 9 g
__(H 278 (2) 428 (1) 628 ()Ll
22, 48,24, 96, 48, 192, ? o 98
(1) 76 (2) 90 @9 O
23 3 7.18.7.63, 127 & 52
(1) 30 ) 31 (3)7_17_’__/_’&,,_4
3 4. 12,36, 108, ? 54
2 (1) 144 (2) 216 (3) 304 (4)
2l N —
S 4. 10,22, 46,7 .
= :” 64 (2) 86 (3) 94 ) 12 .
195, 255, 285, 345, ?
s (',6,5 395 (2) 390 (3) 420 (4) 4335
e Y =
27 3,12,27,48,75, 108, 7 el
T ) 147 (2) 162 (3) 183 (4)
28 2,3,827,112,?
(1) 226 (2) 339 (3) 452 (4) 565
29. 2,15,41,80,7
(1) 111 (2) 120 (3) 121 (4) 132
30. 4832, 5840, 6848, ?
(1) 7815 (2) 7846 (3) 7856 (4) 7887

Directions: Questions (31 to 40):

In these questions, there are equations that have become wrong due to incorrect order of signs.
From the four alternatives given below, find out the correct order of signs, so that the equations

become correct.

3. 324+18=8x 10

(- () -x- (3) ++,= (4) %=,
32 156+ 12=8x5

(’ = 2

s @) +=4 (3) =%+ (4) —x,=

(V23



33
|3| —4:22+71 ~
_(_l) W . \',\||
14 Iqw o ‘2) - + 2
‘ul.\l;_() ' —— ATIANY (.‘) X = %
(8 & st LD B e ',___ (4)
— ok : “ T —
35 L= - (2) =
l() + } e s + (} -
L) '4 x () = l -~ e — Y — ) sy x0 = (4 »
(1) . = 1024 Tl s . N *=
S — .-‘-;-- (2 =
36 3()2 + 28 - 7 x‘ ;“_\»‘\‘k (3) x; +v: (4) w =
(@)= T e i *
= X. Y, e =
— (2) e
R o s G) =2 (4) =x4+

s =, %
\v (2) ‘,z.
38. 729+9=27+3 % (3) =xx @ 5=y
0 —
s X (2) ><.,=,x (3) =X 4 4 S
39 450+30=5~3 » Ty (4) =%

(I) +9 :, —
X (2) =5 e X (3) =+, % (4) - = X
40. l44+6>(14:336
( ] ) ~$ x’ = (2) -:-! x*t = (3) x‘ +' = (4) '7.=,X

Directions: Questions (41 to 50):

[n each of the following questions, there is a certain relationship between two given words on
one side of : : and one word is given on the another side of : : while another word is 0 be found
from the given 4 alternatives, having the same relation with this word of the given pair. Choose

the correct alternative.

: s . 9
41. Tiger:India:: Bear:? (3) Russia (4) England

(1) Australia (2) America
le : Fruit : : Potato : ? (4) Root
% gr))p ;lower (2) Seed O
: : Temple
Aqra : Taj Mahal : : Amritsar :? (3) HawaMahal (4) LowsTemp
o Targlc (@) RedFor
(1) Go
irror : ? Qo —
44. Chair: Wood :: Mlﬁo(fz-) s (3) Pulp
(1) Print -

7-A
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45.  Punjab : Chandig: o

CLYEAG m:;fldu’dm DR ¢ (4) Panail

R NS (2) Kohima (3) Ranchi _——+
46.  Assam : Bihu : : Gujarat ; ? : == et (4) Nautanki
(1) Bhangra O Valhagar, (D GsdBl_———
47. Cloth : Mill : : Newspaper : ? E (4) Reader
S ( | ) Edil()f (2) Press (3) Rc‘?gic_‘;’//’—’_‘ =
/_/
48. Boy:Man:: Girl :? (4) woman
: o

(1) Father (2) Mother ‘/ﬁ),,,iic///,‘—\
49. India: Delhi :: China:? (4) Sngapore
- ( ) OSCOWwW (2) Beljmg
50. Eyes:See::Ears:? Breathe (4) Listen

(1) Smell 2) Wri,c/f),///
Directions: Questions (51 to 60): (1), (2),(3) and (4), three are similarin
In each question, out of four alternatives fgures ma::zuscr, th rc;e. Choose the figure which is

figure is not like t

certain manner, However onc
different from the rest.

51 ETHlEFIA][ALS]|[e]S
siallETo]l[=12]|[+]C
Sl IEE]E
(1) (2) (3) (4)
(1) 1 2) 2 (3) 3 (4) 4

“iAoDoloaldo
ONOA|ITO(AL]

(1) (2) (3) (4)
(1) 1 2) 2 (3) 3 @) 4

3 \9 L [_ZI

Mm@ @ @
. D (3) 3
(4) 4

8-A




(3)
5 — HE 83 (4) 4
57: |
(1) @ @6 @
(1) 1 (2) 2 3) 3 4) 4
58.

33
(1) 1 (2) 2 (3)

59. /LNA;;___J
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T =

n @2 @& @
(1 1 2) 2

(3) 3

(4) 4

Directions: Questions (61 to 70):

In each of the following questions select a figure from amongst the four alternatives which
when placed in the blank space (?) of the figure (X) would complete the pattern. |

6l.
: H B B &
(X) (1) (2) (3) (4)
(1) 1 (2) 2 (@) (4) 4
62. [ [
Lﬁ% PRI
(X) (1) (2) (3) (4)
(1) 1 (2) 2 (3) 3 4) 4
© QD
(X) (1) (2) (3) (4)
L ‘_l)_ I— = (2) 2 (3) 3 (4) 4
64 '
7 >7 =
> 4 8 B @
(1) 1 2) (3) ()
(2) 2

4) 4







D"'ecﬁ()ns.
M each of Questions (71 to 80):
d C¢ 5 = ‘0”0“’"1 Y Quects ! »
Crtain rclﬂ(im h E questions, the second figure in the first unit of the problem i, |
l'elalian 'D & ”"S Up to the hirst higure. Similarly one of the answer figure beary
: ¢ i * - |

N 'St figure of the second unit of problem hgures, you have |
lgurc. Iy

¢ Question mark (7)

: Answer Figures
//\ ( | : ( ( I\ p-
(A) (B) ) DY

(D) (1) (2) (3)
(1) 1 ()2 @S o 0. 4

2. l-’_r;)—b_l.&:l-‘igurcs : Jo= Answer Figures :

Z N[+ %4 S

?
A Z % /s A
(A) (B) (C) (D) (1) (2) B)
@) 1 2) 2 (3) 3 (4) 4
73. Problem Figures :

Q) B T D) (e e
(1) 1 (2) 2 (3) 3 (4) 4
74. Problem Figures : Answer Figures :

f:“J»LZ 7 11 11 ﬁl:—

(A) (B) (©) (D)

(1) @ )
(1) 1 (%) 2 (3) 3 4) 4 -
75. Problem Figures : Answer Figures : 4
AR 2 NN
4)
A B ()T S @ @ @
(1) 1 (2) 2 ' (3) 3

(4)4

12-A



Answer Figures

ANV

(1) (2) (3) (4)
(3) 3 4) 4
77.  Problem Figures s &
' Answer Figures :
GO Hn @ o @
_e) 2 () 3 (4) 4
78. lzr)oblcm Figures : . Answer Figures
‘2 ? ap| Y | @
O 2 i Q
(A) (B) (C) (D) (1) (2) (3) (4)
(1) 1 (2) 2 (3) 3 (4) 4
79. Problem Figures : Answer Figures . B
POIX X&)
1 @y & W
i o - ki (3) 3() 4) 4
(1) | 9) 2
, Answer Figures
80. Problem Figures : @\ @
MO &
D) M @D LR
i@ 0 : @)
(2) b (3)//
() !




JV‘\”\'S( )

')‘l'(‘(‘(‘"ng; (‘)"vsllﬂll\ (8' to YO
Sclect the alternanyve W hich repre
mto cach other »

sents three out of the

vould form a complete square

A

five alternative figures which w),,

S N
ARG | I
D (2) (4) (3)
() 1,45 (2) 2.4.5 1,2,3 (4) 2,1,.;
82. ) \/ > & v
(1) (2) (3)
a 1,23 @) -3;4,5 (3) 2,4,5 (4) 2 34
r % > AN >
(2) (4) (3)
(1) 1,24 (2) 235 (3) 1,3,4 (4) 2,45
\

> oy

(1)

(1) 13,4 ) 3.,4,5

¥ </

(1)
(1) 1,35 (2) 1,2’3

Sl

(4) (5)

(3) 1:4:5 (4) 234

g



36. & — 7 i‘ d

5 c (z) 1, 3,4 (3) 1,3,5 (4) 3,4,5
O % 5>
(2) (5)
1
(1) 1,45 (2) 2,3.4 (3) 1,3,4 (4) 2,3,5
88.
U LT T
(2) (3) (4) ()
(1) 1,3,4 ) 1,24 (3) 2,3.4 (4) 3,4.5
B e e oD
(1) @) 3) @) =)
1) 1 2 4 (2) 2.3,4 3) 3,4,5 (4) 2,3,5
4) &)
) (3) (
" & 1,3,4 @) 1,35 Sl T
@) 1,23 (@

15-A
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9l

PHYSICS

Expand form of 'ISRO

(1) Intermational Space Rocket Organization
(2)  Indian Space Rocket Organization

(3)  Intermatonal Space Research Organization

(4)  Indian Space Research Organization e

Statement | - Warm air is lighter than cold air. .
Statement 2 : Without material medium *Radiation” 18 not possible

(1) Statement | 1s true statement 2 is false
(2) Statement | is false statement 2 is true
(3) Both 1, 2 statements are true

(4) Both 1, 2 statements are false

Q3.

90 km/h = | .
(1) 324 mvs (2) 25 m/s (3) 25m/minute )

324 ki,

94.

?
1

Distance in km
ra

| =203
Txmcinhour.

above graph represents time and distance covered by a vehicle. Then speed of the veh..

IS
(1) increasing

(2) decreasing

(3) remains constant

(4) initially decreased and then increased

95.

Which of the following represents battery

(1) O\ o @) -
6 - W

18-A



(1) E) in
ectr cle
(3) ric Mot 'CSnot work o
— l lkcll"lu roo ' ”k-lhm efl
-4 8ot
7 A - Uom h"‘"u (3 CLof electricit
225 '\g([cl = ) Electric | Y
( l) S % \‘X,’ l” m/s . ) ( H | IL.(.‘“‘ Hove
_\_\~¢-.. ) . ( (f(p[."cc’ac .t l ‘
9 T T T — (2 : eltle
> d pl;[nc Mirro E\l_ L (3) 2.2%8 N
, NN! =5 | (4) 0225
) 0225N

B

Then \'l
( I ) X=30°y= o l
(3) x=30°’} S zsane 7
99 » Y =60°, z = 30° (2) x=60°y=60°z = g0
. The Scientist disco (4) x=60°y=60°z=130°
conductor vered that a magnetic field is prod =
W § produced around a current carrvino
C.V.Raman i
(3) Oersted ii; i ehon
: Volt
100. 40°C in Fahrenheit is
(1) 104°F (2) 313°F (3) 40°F (4) O°F

101.

e holes P, Q, R, S of a open bottle then from which

Let the water is coming out from th
force than the other three holes

hole the water comes out with great
(1) P 2) Q (3) S @) R
Computer follow the simple rule (regarding ey¢ care)
(4) 5-10-5

102. While watching TV or
(1) 20-20-20 (2) 10-20-10 (3) 5-20-5

19-A
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CHEAISTRY

1O Which of the followmg indicator can show the strength of acid/base

(1) Maethy! Ovnnge (2)  Phenoiphthalem
{3 Lt (4)  Universal Indicator

104 Which of the following material (s not used in the lab activity of reaction o

motals 1o produce Hydrogen gas
(1) Zinc Metal (2) Hydrochloric acid
(1) Raking Soda (4) Conical Nask
(a8 Choose the correct matching from the following.
\) Vinegar i)  Sodium Carbonate
Y) Baking Soda 1)  Sodium Chlonde
Z)  Table Salh i) Acetic Acd
iv)  Sodium Bi-Carbonate
(1) X-iii, Y+i, Z-1i (2) X-m, Y-i, ZAi
(3)  Xeii, Y-iv, Z-1i (4)  X-iii, Y-i, Z-iv

6. The chemical change among the following is
(1) Water to clouds

(2) Cow dung to Biogas

(3) lceto water

(4) Growth of a tree

7. Vinegar + A — Sodium Acetate + B + Water. WhatmthcmmcsoanndBm
the above reaction.

(1) Carbon dioxide and Lime water
(2) Carbondioxide and Baking Soda
(3) Baking Soda and Carbon dioxide
(4) Lime water and Carbon dioxide

108. Which of the following is not obtained from coal.
(1) Compressed Natural Gas (2) Coal tar
(3) Coal gas (4) Coke

20-A
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109. Which of the following

Statle 3
{ tHement 1S NOt true

e for !
€ form of Carbon

‘lluuml fuel

(1) Coke s almost pu
(2) ONG is the less P

-4 < (

(4)  Conservati
Onservation of dead Veget
‘2etatic

—

——

m int al is ¢
°8 to Coal is called C arbonisation

——————
—————

110. (A): Pe !
' Petroleum IS a fossil fuel

(1) Both (A) a
| nd (R) correct :
:';2)) (A) is correct, (R) is inc(;:rtltls correct reason for (A),
3)  Both (A : :
oA .(. ) and (R) correct, (R) is not a correct ro:
(A) is incorrect, (R) is correct reason for (A).

[11. Which of the fi .
ollowing fibre i ORI v i

@AY Ostion e 18 called as Art(lg)mal Silk’.

(3) Nylo Rayon
i (4) Acrylic

112. Which of the following is not a Thermosetting plastic.
(1) Polythene Bag
(2) Electric Switch
(3) Cookerhandle
(4) Floor tiles

Handles of screwdrivers are made of plastic.
Plastics are good conductors of electricity.
Both (A) and (R) true, (R) is correct reason for (A).

113. (A):
(R):

(1)
(2) (A)is true, (R) is false

(3) Both(A)and (R)are false
(4) (A)is false, (R) is true




{

. \
BIOLOGY Al

: O Nee l""l’t’l'l\' inlow “ld" and lh"-""! ".p'hl tme. To ey tidd o thi

(1) . Hals she should inelude in her clicl'{ |
Carrot, Murmgn. Milk products (2)  Citrus fraits, Amila, Sov0

- (;) “rﬂn ()“Cc,c:'ls. '-"Kg (4, Cod hver ()“. Sh;"k Il‘/('[ ol

115 Match the fulluwmg
Set - A Set - B

1) l.awmbuci“us ) Antibiotic

i) Tetracyeline b)  Alcohol formation
1) Yeast ¢) Nitrogen fixation
V) Blue green algae d)  Preparation of curd
(1) i-d, ii-a, i-b, jy-¢ (2) i-b, ii-a, iii-c, iv-d
(3) i-d, ii-a, -, jv-h (4) i-b, 1i-c, i.i?-(!._iy-aﬁ_

116. Pedology is the scientifie study of - , Sl
(1) Water @) Al (3) Livingthings (4) Soil

I17. Ravi resembles his father. The transfer of characters from the parents 1o the of 5Pring
called  (A)_ . The (B) contains thread like structures called i
Which carry s AD) 7 Hhclpmansfcr of characters.

(1) (A) - Inheritance, (B) - Chromosomes, (C) - Genes, (D) - Nucleus

(2)  (A) - Chromosomes, (B) - Genes, (C) - Inheritance, (D) - Nucleus

(3) (A)- Inheritance, (B) - Nucleus, (C) - Chromosomes, (D) - Genes

(4) (A)- Chromosomes, (B) - Nucleus, (C) - Genes, (D) - Inheritance

118. Arrange the following steps involved in holozoic nutrition in a sequence
A)  Digestion B) Absorption C) Egestion D)  Assimilag,
E)  Ingestion
(1) A,B,C_D,E (2) E,A,B,D,C 3) CA,D,B,E (4) E,A,C,DB

T ———

I19. Identify the stage A in the life cycle of a silk worm. e
Vo ks
R
(1) Larva (2) Imago (3) Egg (4) Pupa
120. Rabi crops among the following are
1) Paddy 11)  Wheat 1i1) Mustard iv) Maize
(1) i, i (2) ii,iv (3) i, iii (4) i, iii -
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121.

Assertion (A)

(A

Reason (R) ~ovid 19 IS4 pande
: A (hgcu.‘c \\"N : QT
time o ol intects .
(1 s S Calle NOStL Of the ne
( x: (:() 1S the correct L-\N: o Pandemig ¢ people around the world at the same
X X Xplang
99 ‘( ¥ "\.uf)!"fcm but (A) w‘\'.‘“'" lor (A) (2) (R
122. Match the l'ollmwﬁ ’ * Viong P 5 not the correct explanation for (A).

Set- A & Ot (A) and (R) are wrong.
1) Stem wi L 3 )
") Ech with nodes Set-RB
> S 4)  Banang
ll ~ ‘“1&‘
iVl)) Sceed b) Sugarcane
(1) SUCkcm €)  Poratg

W =
(3) i :v " 3, 1i-c, 1v-d ‘g Famarind

-4, 11-d, iii-c, iv-b (2) b, fi-c, i

) s - ’ ) "d. 1V~
123. Observe the given di Y thiiie, i v
i given diagrams and identify the sroun of miore o, 2]
y the group of micro-organisms to which they belong

A) Bacterna B) Protozoa C) Fung D) Algae
(1) AandB (2) CandD (3) BandC (4 DandB

124.

Seed drill : Sowing : : Hoe :

(2) Levelling the field

(1) Ploughing
() Removingiveecs (4) lrrigation
125. Fill in the blanks in the pathway of air in human respiration.
Nostrls |1 _A 1™ 5 |—>[Wind Pipe]—>| € —»[ Tungs |
(1) A= Nasal cavity, B - Bronchi, C - Pharynx.
2) B Nasal cavity, B - Pharynx, C - Bronc.hn
(3) A Pharynx, B - Bronchi, C - Nasal cavu‘z
- B - Nasal cavity, C - _
(4) A PharynXx, —

23-A
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. A
MATHEM A'l’le

: | -4 yminator by 8% The .
126, Increasing the numerator by 15% and decreasing the denc y 8%. The vayy,

racti ' £ ' : (] raction”
fraction will be —=_ What is the value of the original frac

16 :
4 4 2
» 3 @ 3 Sl c
B .
is v7
127. 1£ 50% of (x — v) = 30% of (x + ») then what percent f)’f" 4 !
(1) 15% (2) 25% "_‘(_3—)’”7‘514 (4) 1259% s
128. ll.216x2500x3()0=2.t,3;',5:.7wthen(x+y+z)w=
(1) 9 2) 8 (3) 17 (4) 0 ;
129. Ifx:y=35:2then (8x+9y): (8x +2y) =
: 29 :22 (4) 61:26
(1) 22:29 (2) 26: 6l @) g,
n+4 n
130, 2 2:;2 +27 =
2%x2"
|
(1) o 2) %-z" 3 2" @ 1
‘ The value of
3 5 7 9 11 13+15+17+19=
1"'-22"'22.32"-32.42.‘.42-52-'.52-624.62-72 7*.8% 8%.9° 9%.10°
| 3 _1_9.1. 4 _99_
(1) 100 (2} (3) 100 (4) 100
S0 1r % = tand o S then S o=
x b Y G 4z
b
(1) 0 (2) - (3) 1 (4) Xb
33— 2 udns L os b AL
4 2 6 7
13 61
() 2— () o (3) 23 47 ‘
2— AN
84 84 o Sa

24-A
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134. Ratio chil‘\‘llnllcl\'n(c

W
(1) 2:d A Cirele and iy

P M @ ren whose dinmeter is ‘d”
135. If the mtm. Qf the Nterior gy (3) 4:x (4) d:4

number of sides of that Dnl\,-}: € and exierior ShE ‘ — —

(1) 9 s _;..nn i BIC OF a regular polygon is 7 : 2 then the
136. For what \"In, (,f_. - 3) B 4 11

P the CQuation R 2p 5 - —( ) =
(1) 2 5B3p ~7) = 1 becomes true?
(2) 3 \
(3) (4) l
137. In the given figure, AR Mo ;‘ : “ 3
an
X+ Y+ z Eis a POINt in between them. Then the value of
B
(1) 360° ) 180° S
(3) 270 (4) 150°
138. From the figure the values of x and y respectively
A
40°
y
E
60° A B
B @

(1) 1352 100° (2) 80°, 100° (3) 100° 145° (@) 100% 115°

| then the Valué of x1s

139. If 2=x+ 1
1+-——-1'
3+z
3 —
M 1 Y o s
17
25-A
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1490, The value of -7 235m><_(}532 +6.19%0.0532%0.723 + 7.23% 0 ¢

e |t'r|).\\_

0.0723%5.32%0.619+0.723x0 532%0.619

(1) os 2y 3 (3) ! (4)

- 1.874
T M | e
141, If the Median of the observations ﬁ.’—r,i X X 3s 7 (x = 0) then find the valy, o f
AR W '
(1) 56 (2) 28 (3) 42

pereentage) on various jtems and savings of a family during
a month.

If the monthly savings of the family is T 3000, what is the
monthly expenditure o, clothes?

() %2500 (2) z 5000 (3) %3500
143. Match the following, 2
Figure No. of independent measurements are Tequireq y,
construct it
a) Square ) 3
b)  Parallelogram i) 1
¢) Rhombus i) 5
d)  Quadrilateral v) 2 _ Iy :
(1) a—ii,b—i,c—iv,d—iii (2) a—>l,b—>n.l','c—>u.,d—>w
(3) a—iibb—ii,c—iv.d—i (4) a—>iv,boiil,c—oi,d—i
144. Which of the following statements is/are true?
=12
a) TZ 1s greater than —2.
=30
b) = lies between —1 and 0.

€) x-(P+2)=x-y+x-zis called associative property.
d)  There are only two rational numbers which are equal to their reciprocals.

(1) onlya (2) onlyb (3) b,d (4) b,c,d
145. If the radius of a circle 1s increased by 50% then the increase in its area is
(1) 100% (2) 50% (3) 22% (4) 125%
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,.36. what was the Capital of M H l'\'l‘( RY
(1) Delhi UKy
FHHASLY duriy
(3) Agm ‘& the rule of Quibuddin Aibak?
B (2) 1 thor -
T ) ‘ - ¢
(47. W hich of the followine . (4) Waots
1) ‘Ghatik & Statenye, t Devagin
1 atukas’ were o SIS 18/ar ‘
S i - .L Ldllcu!innul ns e -
(1) (1) onl } cre csluhlixhul b s
: Y Hoysa
| _ ;! 1S,
(3) (l) & (ll) (2 .
e 2t <) (i) only
e (4) Noy
—— -—-__- 1

¢ of the two

148. *Artha Seeri’ in Kakati-\-/

C 0 !: ll ‘,l l

r "]l < ‘-.l

(2) collect taxes from the farmers
(3) belongs to financially middlck T\d traders
C

(4) brings the forest Jang under cult‘lss S

— ivation
149. Women in Vijayanagara Ki ———
! Ingdom were trained i R
Nass ) 41 amed in
z)l) (')ugul: ) SHinesns i)  Wrestlin
1) on et
3) (H& (}i'i) onl SO
Y (4) (1), (i) & (i)

150. Match the following.

ii)  Dhara Shiko
iii) Tansen
iv) Todar Mal d) MeghMalhar
(1) i-b, ii-a, iti-c, iv-d (2) i-b, li-c, iii-d, iv-a
(3) i-c,ii-b, iii-d, 1v-a (4) i-a,ii-d, iii-b, v-C

¢) Ain-E-Akban

b)  Translation of Bhagavat Gita

151. Which of the following < not a belief of Sufism?

(1) Thereis only one God
(2) Allare the children of God. | i
(3) Tolovea fellow human being 18 {0 love G

y from God

(4) Music and dance take people awd
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s6. Match the o114, GE .

DR Nt .n\“"‘":‘ DCRAPIY 4

'0 World Earth “'-n.-

) World Wate, |;‘\ n)

1v)  World ¢ )Zone |‘)“ April 22

(1) -b, ii-gy, T, . lune §

B) ke, iih, iiig d)
’ o

N,

t‘"l”t‘lnhc, 16
March 29

l.\?. Zlh)c '.:;.“Ch vord ‘IfI\\'|, : \*) | b, 1 e, 1y
Cly Uney? 1 (4 1 ' V-l
8. Whi ;‘L‘Lh“_",”““‘d (2) g cans A, lied, b, jyag
1SS. UCH type of . Nalyre
(1) Fv)c':‘rgrm forests are in m S "
o C , aj . : S .
(3) Tho €N foresig lonity in Andhry prag: (4)  Air
K my forests 2) D sh?
159. WhiCh Of(hc f e —— - C lc‘nlnu., fOree
O — p LOTeSs1s
i) Red Ind; llm.vmg Slatements e l}»l Mangro. ¢ forest:
Y ndians l|VQ n the & > 1S/are rue? 5

(1) (i) only SMIES still lead Primitive | ¢ Amazon basin,
(2) (“)Only € lle style
l 60. Thc ﬁrst pchOnW ‘_}_)_ “) & ) (4) None of the tw
(1) Columbus >3 the globe by sea was e
(3) Magellan (2) Vasco da Cama

(4) Herodotus

161. The colouru . e
sed to show a place with the height of 3000-7000 msl onamapis

(1) .Wh"c (2) Violet (3) Orange @) Yellow
162. Identify the odd one out among the following resources. N

(1) Coal (2) Solarenergy (3) Petroleum (4) Natural gas
163. Rows of trees are planted to protect soil cover. This is called

(1) Shelter belts (2) Mulching

(3) Contour barriers (4) Inter cropping

164. Which of the following statements is/are True?

: ;s g°4' - 37°6' North latitudes.
i) India lies between leaaified

WY o7' . 97°25'E
ii) India lies between 68°7 97°25' Eas (3) ()& (i)

; i) only
I (2) (i)on
(1) (i)only statements is/are False?.
lectricity was Norway:

~ Which of the following s
& : oidee s i built in France.

(4) None of the two

untry t .
i)  The firstco (ation WaS
s idal energy s 1o sands of Kerald
i) The first t.ld?o.md in the monazite san 3) (i) only

?li; g)r an:ll;m e 2) (i) ony
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: LN ¢ .
[ 56. Match the tollow ng LN ", B AP %
1) World I-n\‘unnmv,
i)  World Eapy, Dy, bt
i) \\':Ulld Wateg Day “) April 22
1v) \\'uﬂd Ozone Da b) Iune §
(1) 1=b, _‘F-“‘ -d, v =1 September 16
(3) -d‘:‘—. r"-l‘. l]‘-(l. ) : "' .‘-1.”1 h .‘?
157. The French word ‘Env l.X' b, ke, ili-d, iv-a
v ]

e
158.

i !
SORLE BT IV<C

. rones*
( | ) NClgthurh“ud (3 ; ¢ !\.IHL-\H\'\
- ——— = SNAalure
Which type of forests are =
S % 7
(1) Evergreen foreg;s majority in

(3) Thorny forests (2

(1
) Eanh

Andhra Pradesh?

(4) Ar

D Wuous forests

159 };’hlcgogtlh(:lfonowi@;‘;t&;wm\.‘\ _? (-?) 7Mm'.'_m-.c forests
1 ed Indians live in the C are 1rue”?
= : € Congo bas
ii) Red Indians 180 Dasin and pigmies | v
(1)) (1) only ans and ‘;gmlcs still lead a pmmmlt\h:tL\:H\‘hL et
(2) (i) onl - o
— y (3) (1) & (1) (4 N .
ol A : one of the tw
160. The first person to Voyage across the globe by sea was N : tWO
(1) Columbus o ' _
(2) VascodaGama
(3) Magellan

(4) Herodotus

161. The colour used to show a place with the height of 3000-7000 ms! on & map s

(1) White (2) Violet (3) Orange (4) Yellow
162. Identify the odd one out among the following resources.

(1) Coal (2) Solarenergy (3) Petroleum (4) Natural gas

Rows of trees are planted to protect soil cover. This is called

163. |
(2) Mulching

(1) Shelter belts. (4) Inter cropping

(3) Contour barriers | e
164. Which of e il sg’ﬁm;l‘;t"sésll\la:thrl:ﬁudcs.

. 1a lies between ©°F = 2" itudes.
2) iﬁﬁﬁ lies between 68°7 ) 97\3 d h();f e ® N e
1 i1) on
(2) |

165.
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POLITICAL SCIENCE \A)
_ . e cONSt : ] _ J
166. A resolution on how independent [ndia’s constitution should ook like was Dass.
ian National Congress at = . Oy
l?;llar;(Na"S:‘:qu‘(ioﬁ > (2)  Karachi session
f?) q::f: session e @) l.uﬂ(_no_w session
; » following. 7
167. Maugm;:&g‘my a) Hugd of the state throw electi,
z Smialism b)  Religious freedom k
.'.'.) S(:CCUl'lriqnl c) M‘"lmahzmg imequalities
1) ‘: l;lié d) COﬂ}PlClg Power 1o take decici...
iy S c. iii-b, iv-d (2) i-b, ii-a, iii-d, iv-c Slong
((31)) % i iiicb, iv-a (4) 1, ii-c, iii-b, iv-a
——— inted by the : , T
168. Governor is appointed by (2) Chief Justice of the High Coyn

(1) State Government
(3) Central Government e, ¥ I
Which of the following statements is False regarding the composition of chm“,‘m{.

(4) President

169.
“ouncil? Wi

(( i(;uncl /3 of the members are elected by the Leglslamt;: Aig.embly.

5)  1/3 of the members are elected by the Local au orcn: uas.titu

(3) 1/12 of the members are elected by the Graduates on? : cgcy,
1/12 of the members are nominated by the Governor of the State.

(4) :
ich of the following statements is/are True? Iy
i Whlc}%l?e Govcrnmentg does not interfere in religious practices in U.S.A.

i . . . - » -
) The Government interferes in religious affairs, when necessary, in India.

;'1)) (i) only (2) (ii) only (3) (1) & (i1) (4) None of the tyq
171. EVMs were used throughout India for the first time in the year.

(1) 1999 (2) 2004 (3) 2009 (4) 2013
172. The First Health Minister of Independent India was . . .

(1) Jairamdas Daulatram (2) Raj!(.uman Amrit Kaur

(3) Dr. John Mathai (4) Jagjivan Ram

173. Which of the following statements 1s True? .
1)  The Parliament Consists of the President, the Lok Sabha and the Rajya Sabha.

1)  There are 545 elected members in the Lok Sabha.
(1) (i) only (2) (i1) only (3) (1) & (ii) (4) None of the (WO
[ 74. Identify the False statement.
(1) A Public Interest Litigation (PIL) can be filed in the Supreme Court only.
(2)  Even a letter or a telegram addressed to the Court could be treated as a PIL.
(3)  PIL was used to secure justice on many issues.
(4) The mid-day meal scheme started in Government Schools because of a PIL.

[75. Who is the present Education Minister of India?

(1) Smriti Iran; 2) Prakas
(3) Ramesh Pokhriyal §4; Dhmlg,g:dp;kgrm -
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. ECONOMICS

following.
.'16. Mateh\he‘o ; ‘muy
i) Bankmg .. b) Service
b e )
. | d)  Agriculture
T RN e
23 e fiod i o
177'7 Which of the following is known as ‘Golden ?ge;m
e o . 35S
(3) Whe: 3
Y SR BRI 0
178. Tha-wmq‘yiﬁculmre is associated to o B
5 P (@) Silkwoms
EB; Fruits U
o Minimunm age limit to rive ransport
(1) 16 years e

180. The largest producer 01%
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